Complemetary (’s  90(
Supplementary (’s 180(

Standard Position

Parallel Lines Cut by a Transversal


6 Trigonometric Functions


Function Values of Quadrant (’s (Table p. 27 – Just Keep It Close)

	(
	sin (
	cos (
	tan (
	cot (
	sec (
	csc (

	0(
	0
	1
	0
	Undefined
	1
	Undefined

	90(
	1
	0
	Undefined
	0
	Undefined
	1

	180(
	0
	-1
	0
	Undefined
	-1
	Undefined

	270(
	-1
	0
	Undefined
	0
	Undefined
	-1

	360(
	0
	1
	0
	Undefined
	1
	Undefined


Reciprocal Identities & Some Different Forms (p. 31 of Text – See 6 Functions too)
sin ( =       1     



   csc (
cos ( =      1     



   sec (          

tan ( =       1     



   cot (   

cot ( =       1       



   tan (          

sec ( =        1        



    cos (            

csc ( =       1        



   sin (            

Signs of 6 Functions – All Students Take Calculus (p. 31)
A – All functions are “+” in QI

S – Sine & Csc functions are “+” in QII

T – Tangent & Cotangent are “+” in QIII

C – Cosine & Secant are “+” in QIV

	( in Quad
	sin (
	cos (
	tan (
	cot (
	sec (
	csc (

	I
	+
	+
	+
	+
	+
	+

	II
	+
	-
	-
	-
	-
	+

	III
	-
	-
	+
	+
	-
	-

	IV
	-
	+
	-
	-
	+
	-


Ranges of 6 Trigonometric Functions (p. 33 of text)
-1 ≤ sin (, cos ( ≤ 1   &   -( < tan (, cot (  < (   

-( < sec (, csc ( ≤ -1 ∪ 1 ≤ < sec (, csc ( ≤ (
y





x





Origin = Vertex 





QIV


270(< ( < 360(





QIII


180( < ( < 270(





QII


90(< ( < 180(





QI


0( < ( ≤ 90(





(





Terminal Side





Initial Side





Alternate Interior (’s Equal





Alternate Interior (’s Equal





Alternate Exterior (’s Equal





Alternate Exterior (’s Equal





Corresponding (’s Equal





Interior (’s Sum to 180(





Corresponding (’s Equal





Interior (’s Sum to 180(





(





“y” is opposite





“x” is adjacent





“r” is hypotenuse





r = ( x2  +  y2   (Pythagorean Theorem)





sin ( =   opp    =    y   	


	  hyp          r





cos ( =  adj    =    x   	


	  hyp          r





tan ( =   opp    =    sin  (   =    y   	x ( 0


	  adj           cos (          x





cot ( =   adj    =       1       =    cos  (   =    x   	  y ( 0


	  opp          tan (          sin (          y





sec ( =   hyp    =       1        =    r   	  x ( 0


	  adj          cos (            x





csc ( =   hyp    =       1        =    r   	  y ( 0


	  opp          sin (            y

















(sin ()(csc () =  1





Sin & csc “+”





Tan & cot “+”





All F(n) “+”





y





x





Cos & sec “+”





QIV


x & r > 0 , y < 0





QIII


x & y < 0 , r > 0





QII


x < 0, y & r > 0





QI


x, y & r > 0
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